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i | RN =sin(180°—20°)- cos 25° + cos 20°-sin 25°
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1)sin(a+ B)=sina-cosf+cosa-sinf =| — |x| — [+| ——= |x| = | =—=— .
(sin(a + f)=sine-cos i+ cose sin (17){13)(17){13) 221
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2)cos(a— f)=cosa-cos B+sina-sinf =| ——= |x| — [+| = |x| = | =— .
(2)cos(e - ff) =cosa-cos f-+sine -sin f [17){13} (17){13] 221
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s.tanl2°-tan33°+tanl2°+tan33°+1=1+1=2 .
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-.sinC =sin[180°—(A+ B)] =sin(A+B) =sin AcosB +cos AsinB =
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(3) 2sin?(ar+ B)—3sin(a + B)-cos(a + B)+4cos’ (a+ )=
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=cos® (o + f)| 2tan* (ar + 8) —3tan (ar + ) + 4|
:5[2(—1)2—3(—1)+4]=% .
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tan(a—7)=tan[(a—ﬁ)+(ﬂ_7)1 zlt_ta(n(alf)ﬁ’;tal’f(ﬂﬂ —7}2) :1_3 21 -
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2 = =
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